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A thin lossless vertical 0.25A monopole at the origin in free space is fed through an infinite
ground (perfect electrical conductor) plane at z = 0 with a feed current 7, = 1£0° A
Determine the: (a) vector far-field phasor electric field, (b) vector far-field phasor
magnetic field, (c) vector radiated time-average power density (Poynting vector), (d)
radiation intensity, (e) power radiated, (f) maximum directivity (unitless & dBi), and (g)

radiation resistance. [Hint: What would be the length ¢ of the image equivalent dipole?]
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